POEC 6381

Introduction to Geographic Information Systems

Sample Final Exam

Provide concise and relevant answers to EIGHT (8) of the following. Think before putting pen to paper (or fingers to keyboard). Consider all aspects of each phrase carefully. Be sure that you explain the main terms used in the question and your answer (assume I don’t know what they mean!), that your answer is organized, and that the points you make are not repetitive within any one answer. Also, each question addresses a different issue. If you find yourself repeating the same information in different answers, you may be on the wrong track.  

Between one or two paragraphs on each question should suffice. Ten points per question, I’ll drop the lowest grade, and  give you a bonus of 30 to get the total to be out of 100.  In essence, the questions are: “True/False (or a bit of each) with explanation.”  
1. The terms registration  and rectification are synonymous. Agreed? Explain. 

2. All GPS receivers, irrespective of cost, have the same level of accuracy (or inaccuracy!) when used stand-alone,  which is approximately 10 meters RMSE. Agreed? Explain.

3. One of the most effective methods for making digital orthophotos  planimetrically correct is to use a homogeneous transformation based on origin translation, axis rotation, scaling and skewing. Agreed. Explain.

4. Conflation and interpolation are essentially two approaches to solving the same problem. Agreed? Explain.

5. The centroid is a useful measure of accessibility since it is that point which minimizes the sum of straight line distances from itself to all other  points. Agreed? Explain.

6. The fundamental difference between regionalization and classification is that with classification only contiguous spatial units are placed in the same group.  Agreed? Explain. 

7. A low-pass filter is a used to make linear edges (such as a shoreline or forest boundary) more readily identifiable. Agreed? Explain.
8. When classifying variables for display on choropleth maps, equal area and equal interval recodings will produce the same result. Agreed? Explain.
9. Raster to vector conversions are the most difficult to accomplish but fortunately they are required the least. Agreed? Explain.
10. Over the past five years we have seen geographic information systems emerge as a field separate and distinct from information systems (IS). We expect this trend to continue in the future as GIS becomes increasingly distinct from IS. Agreed? Explain. 
